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Transfer Exam. for Linear Algebra 2009/7/15
f. Solve -2x+3y+3z=-9
Ix—-4y+z=5
~5x +7y+2z=-14 Dby Gaussian climination, (10%)
2. Solve x+2y-z=12
2x 45y -3z =1
x+4y-3z=73 by Gaussian elimination. (10%)
3. (a) Show that every square matrix A can be writfen as A= S + W, where S is

syntunetric and W is skew-symmetric.

2 -3 5
() Write A= | | 7 —4| = S+ W, where S is symmetric and W is
-1 2 6
sliew-syminetric, : (20%)
2.7 U
4. LetA= |1 4 -1y, (20%)
1t 0

(a) Find l/II (determinant of A).
(b) Find A7,

5. Let'T: R —» R' be a linear transformation by T(X)=A X, where A

1 -2
=2 | 4 3 |.T¥ind bases for kerT and imT. (20%)
5 6 1 5 '

6. Diagonalize A, if possible.  (207%)

MA=11 2 -3 A=|4 1 8
110 4 -4 11




